8 7 6 5 ¢ 4 3 ‘ luwc NO. 6068 lsnii ]R!i:)v. I 1
This print and and the REVISIONS
CABLT SPeCIALISTS. 5.22.’2‘::':1’“!,"'223%°§.§}§§J§?Ji'° ecn | snr [zone ] rev DESCRIPTION DATE | APPROVED
formation sontdineg. on Inis ptint nat speaticoy arm N/C | RELEASED
;niv;?gdby ELECTRONIC CABLE SPECIALISTS in writing is ON F/D: REDESIGNED & RERAWN TO|
orbldden. CONFORM TO A NEW PLENUM,| C ASSEF]
A ADDED SHEET 2. LJH o oS
ON P/L+ ADDED 1TEM 13 6/14793
ITEM 4 WAS $0164-106. V SIEBERT
ITEM 12 WAS S0105-102.
LJH _[C ASSE
B |SEE ECN 128 & 137. 10/13/93V SIEBERT
3237 P/L| C |ADDED ASSY 6068 SR
ADDED NOTE 11
ADDED NEW SHEET 2
CHANGED SHEET 3 wAs SHEET 2
3595 P/L ITEM 9 QTY WAS
P/L ADDED ITEM 15
2/3| D3 CHANGED BALLOON CALLOUT WAS 9
3636 P/L ITEM 12 P/N WAS MSS1957-24
5596 P/L ITEM 2 P/N WAS 10018CC-108
P/L ITEM 8 P/N WAS LAVELLE 40-8PB6/20/97|T ANTCZAK
P/L ITEM 11 P/N WAS S0105-104
P/L ITEM 13 P/N WAS C0078-01
DELETED NOTES 4 & 6
ADDED NOTES 7 THRU 11
CHANGED NOTE S TO NEW FORMAT
1/3|a2/85 ADDED PROJECTION/CAD BLK T0 TITLE BLK
2/3|B6 ADDED HOLD DOWN DIM'S 2.88, .9
2/s3/ce ADDED FAN SCHEMATICS Al al
9824 1 |B8 | D |ADDED NOTE 12 T ZM
3/oa
I'w’,
8 | 8 | 8 |MS24693-C24 | SCREW, FLAT HEAD (#6-32 X .25 LONG) 15
4 | 4 | 4 |MS24693-C25 | SCREW, FLAT HEAD #6-32 X .31 LONG) 14
A 1 |— | — | coozecc-to1 | TRAY; & MCU €063 AL ALLOY 6061 13
6 | 6 | 6 | MS51957-26 | SCREW, PAN HEAD #6-32 X .25 LONG) 12
COVER ASSY,
A 1 | 1| 1 | sowoscc-104 PLENUM €040 AL ALLOY 6061 1
12. IDENTIFY WITH ECS P/N AND LOT§, PER EP210. M a/R| A/R | AsR | DM CORNING | 5pal ant, ADHESIVE (SILICONE RUBBER) 71984 | 10
& PART NO. FOR THIS ASSY IS 6068 8 | 8 | 8 |MS24693-C26 | SCREW, FLAT HEAD #6-32 X .38 LONG) 9
131313 10736-01 PLUG BUMPER (RUBBER) 8
Aﬁ ALTERNATE PART NO. RTV-732CLR, DOW CORNING
11 ] 10016~106 | DEFM. SEAL, 6 MCU (SILICONE RUBBER) 7
REMOVE ALL (13 PLACES) FROM TRAY ASSY AT TIME OF INSTALLATION. M 1 11 11 | 10024cc-o1 METE%INSC UPLATE €040 AL ALLOY 5052 OR 6061 6
MAXIMUM EXTENSION WHEN LRU IS SECURELY FASTENED TO TRAY ASSY 11 1 | 1 | S0085-104 | FAN ASSEMBLY, DC (ROTRON P/N 011439) 5
A 1| 1| 1| soea-206 PLENUN ASSY. (040 AL ALLOY 6061 4
A UNIVERSAL CONNECTOR CUT-OUT PER ARINC 600; SIZE 1, 2 OR 3 ROLD oW, FRONT
2 | 2 | 2| 10344-101 |,NcrRTION/EXTRACTION 3
6. - DELETED - _ CONNECTOR PLATE
M 11|11 10018-108 ASSY. 6 MCU 063 AL ALLDY 6061 2
TRAY
S. DESIGNED TO MEET THE APPLICABLE REQUIREMENTS OF THE FOLLOWING: M — 1 1| 1 | soosecc-106 |™® "’E",ﬂ’éﬁﬁ ASSY, €063 AL ALLOY 6061 1
A. ARINC 600: & MCU, LEVEL 1 CODLING e Pyt P
B. RTCA/DO-160C ENV. CAT. Al-BABXXXXXXXXXXXXXXXX
-102| -101 A o e o :m::“ ATERIAL/SPECIFICATION CAGE CODE "'2"
4, - DELETED - ASSEMELY PART NO.
THIRD ANGLE PROJECTION vees BUERSONS Ak W NS CONTRACT 1- ELECTRONIC CABLE SPECIALISTS
A APPLY AROUND SCREW HOLES & CONTACT SURFACES AT ASSEMBLY — RS I T _ hoita oW S
TO PROVIDE A SEAL BETWEEN @/@/@ Y @ r_/-l * o T D SWITAL SKI|12/11/92
- -+ - DO NOT SCALE ORAWING guecken 8% o, me
ASSEF 1271479
A s o= e Flw P e S N — M Rt (LM% TRAY ASSEMBLY, 6 MCU
INISH: (CLEAR CHEM FILM PER MIL-C-S5541, TYPE II, CL . CAD GENERATED DOCUMENT = C_ASSEF 12/14/92 S /S W / LEFT SIDE DC FAN
_ MUST BE SUBMITTED TO THE e A AN PROVECT N0, || GUALTY ASSUAANGE o T o 7| ' 60
NOTES: UNLESS OTHERWISE SPECIFIED DESIGN/DRAFTING DEPARTMENT — - D /6619 C/A 68
FOR PROPER UPDATE APPLCATON ADDITONAL APPROVALS DATE W SIEBERT 15/l4/92 seae § /2 lzrrtcmm 1 o 3
8 7 6 l 5 f 4 3 2 | 1




8 7 6 5 ¢ 4 ’ 3 WG NO. 6068 's;é ‘Rgﬁ,‘ l 1

This print and esscciated documents and the conlained REVISIONS

information are the confidentiol property of ELECTRONIC
CABLE SPECIALISTS. Disclosure of, and/or reproduction zone | rev. | DESCRIPTION | oae | approven
of, all or part thereof or manufacture of any part from 1 D ]SEE SHEET 1 I

informaotion contained on this print not specifically per—
mitted by ELECTRONIC CABLE SPECIALISTS in writing is
forbidden.

CITEM 105
A 2%
263
’ N &
| ] A 8x
d
q ] | §
(e _e_e\ [
S ® 0 |
(76100 (5.200) It : H ‘ : ﬁ/__ .
!
. SO o
| ‘ ‘ | + 26-32VDC
[l Y | & O N
M - 20 AWG
A o e
\‘ FI%\
@ Q e 13% @ ™ (FAN PERFORMANCE SENSOR OUTPUT
FOR LOW SPEED WARNING DETECTOR)
ax
A A FAN WIRING
1 [0iS{A]B] @ SCHEMATIC
- 12.38
(TOD FACE OF CONNECTOR PLATE) 3X PER SIDE
® 00 0]{0 00 ©
)
|
| I
|
AIR FLOW b q |- 2,885 =] O "g
7.25)
| l
| O O
d lo|
. soeseleees . | — —
. _——— = = === €1.06)
/ B B !
€965 —=|
2x
261 | 9.75) -
- 14.92)
/ ASSEMBLY
THIRD ANGLE PROJECTION| CAD GENERATED DOCUMENT M ELECTRONC CABLE SPECIALISTS
FRANKLIN, W) 53132

Egd PHONE: (414) 421-5300

DESIGN/DRAFTING DEPARTMENT | D émswi 97'87 AI i %068

FOR_PROPER UPDATE scue 1/ Jerrecmmy [ser 2 o 3

NOTES: SEE SHEET 1. r_,/—-" ANY CHANGES TO THIS DOCUMENT
' + 'i] MUST BE SUBMITTED TO THE sz
| 3

2 l 1






